2025 2EEZ|7(F1ZE) (25.01.10)

P
2018 | N
9:30(18H) 1810 197119
e T 18122 Y
= 12:00(3%H) HaS == 12132 1211491
2z | 13:30G84) Hes | ses uHoRl | shane == 19 159
14:50(28}) otz SHaME
ol
16:00(183) HaE | omEs i I -
= A
9:30(18) M ez | omme i HIZSA
o = A
*I'EI’E 10:40(22H4) _:LBB e IR HIBSA
S | 12:00(38H4) IEJBB ElatrC : i FaFC1 ofor=1 asallis HIZSA
Xt . . ¢/BB FSESS| —oS FSES|
B 13:30(3%d) ;aqx lalis p sl HEIFC otots - aa OIS ot po
14:50(28!) =S 3 - i EaHFC SFAX ol2ls SFRxl | FErCT oty
e oz e g | wms - dUE | HFAX s | adom | #FA R
16:00(130) | sramm | ow 83 = 3SA Cilinal ol2ls atof] e BH2FC SHINE
. . Az s= = = = x|
9:30(18Hd) | ms = 2uz AISSA HIZSA He= sl HEIFC B A
10:40(2¢} > olgls £XIFC L2k UEES A% SH%
. [ s = S
}EI‘?; (2843) pe[IES olal= - HYys Hel= e +X|FC ou=
12:00(3%t) Uz OIEI; +XIFC Hls B £X|FC oH=
x} PP . l
+3 13:30(38h) $XIFC A= $XIFC LS
14:50(23t)
1600(16_‘!1&) SN HL=s A9|
9:30(18h4) suns | HYE +EB8 s
. = ofor= e = +2IBB =
oj2|Ly 10:40(281) Efatfc M= kel o012l OHmAE il HYs I: B
. . = = =
12:00(324) Efdtc J = 2gs olEs OHmHE e OIEISFC 4-2IBB T =
=] o|Ix= =l = v
"_Tbél' 13:30(38hH4) HaS orof= olaE P o1HZ 0|2|SFC A2IBB M=
° = = Ta =T =
14:50(28H1) os Ol2ISFC 2188 s S8 "1"6H: AssA | Tee +2B8
(13 = E3IFC . < HIZSA 3
16:00(18t) 3T A=A NE HFHY £2IBB
9:30(1844) v 35A | dzdhy |+
10:40(2% A== =83 o + 288
o | A0(2EH) 55y | +uBs sa3 : deE | HFAY
S0S 12;00(3-6-"_ H=zot o = L ELS ofot=
Xt otid) TSe +¢BB F2|FC1 o Eo9S HIFEH
x| 13:30(38H) ME5Y | 4+uBB . == LS IR
=
14:50(224d) e Tree o=
16:00(121d) R T rEY e
9:30(18H4) HIEEY SAIFC HFEse ozl
10:40(28t =
S 02 HFEY SEIFC
43 | 12:0068)
SR | 13:30(38H) AZEY | HSFC
14:50(28H)
16:00(18t) R ¥Z ofoF=
e QU= =S ¥z
2S5 =
HEohY oz 2es U
918 ojor=
oS 26.3%




ol
=
HmEE

OmHE

HmLYUE
MIZSA
SEHFC
SEIFC

423

k=1
=

-I o
oY

d

X0
o
Kk
&

f

q

g
+X|FC

e
]
o

=

ol
=
HmEE

22

OmE

X

HlmEE
g2tFC
E2tFC

+2|FC1

Kio
Kk

H
H

Kio
Kk

2

p=1
=

-IO

HIZSA

HIZSA

HIZSA
SEFC
SEFC
SEFC

ot2|
ot2|

H

<
on

H

<
on

ol
=

kio
Bl

kio
Bl

HEY

B

421

o
=

1

£XIFC
£XIFC
£XIFC

+2BB

+2BB

+2BB

3

o0
Kio
Kk

H

20

ofmEE
ofmEE
EIBFC
BtFC

OHIHE

SEFC

Klo
o0
ol

k

2

o
=

1

BB
2/BB

|

=]
+21BB
#XIFC
#XIFC

A
T

Kio

29

Klo

HiF

MIZSA
HIZSA
MIBSA
oimIE
OmEE

025

18 192

tof2|
tofz|

HsFC

o

Has
HYs
HYs
FX|FC

S

2025 2EEZ|7(F1ZE) (25.01.10)

18 18Y

Ve

ks

IS
HIBSA
MHIBZSA
MIZSA
HF9

gaiFC

F2IFCt

=
FCSE

170|

Fese
£XIFC
£X[FC
£XIFC

otz
OmEE

H

mEE

2

o
=

1
T

I3
I3
¥

3
3
3

HFdd

3

4288

H

3

o0
Kio
Kk

H

16

2|
gatFC
gatFC
HsFC
OmHE
HmEE
OmEE

2

2
=

1 o
tof2|

Al
(o

MIZSA
HIZSA
HIZSA
ES
VEIRS
VES

)

L3

t

9:30(1

)
)
)
)
)
)
)

=1
=1
)
)

L5
Lz
Lz
L3
Lz

L=

t
]

t

13:30(3
14:50(2%8t
16:00(1%}
9:30(1
10:40(23t
12:00(3
9:30(1
10:40(2%t
12:00(33t

)
)

L3

16:00(1&t
9:30(1

)
)
)

m

L=

10:40(23%}

]
o

L=

t

12:00(3

3

AetS

Kio

o0

)

L3
L5

14:50(28H4)

13:30(33%¢
16:00(1%}

I




